Algebre Relationnelle

(1) 7NU,Nomu,ville(U) ou U
(2) Oville="Londres' (U)

(3) mr(onu=1anp=1(PUF)), ou
mnE (onv=1(onp=1(PUF)))

4) TNomP,Couleur (P #xp=np oxp=1(PUF))

(4)

(5) mnr(onu=1(PUF) sxp=xp Ocouleur="Rouge’ (P))

(6) TNomF (F * PUF * 0couteur="rouge’ (P) * ™NU (0Ville='Londres'vVille="Paris' (U)))
(7)

7) mnp(PUF  F % U)
e ((PUF snponr F) *nu=NUAville=ville U)

( ) TNP PUF % UVille:’Londres’(F> * U)

(

(
(9) v (ovinerviner (PUF * U * avineviner (F))) ou
7TNU(7TNF,NU<PUF) — mnenu (U x F))
(
(

( ) NE\ONU=1 (PUF)) N WNF(JNUZQ(PUF))

(11) mnu(mne (onp=3(PUF)) sxp—xp PUF)



